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QUESTION 1

How many phases are in the CRISP-DM Process Methodology?
A. Four

B. Five

C. Six

D. Seven

Correct Answer: C

QUESTION 2

True or false: only Terminal nodes (Graphs, Modeling, Output, Export) have a Run button as displayed in the graphic.

Highlight records where

@)

A. True

B. False

Correct Answer: A

QUESTION 3
True or false: running Auto Dataprep results in data transformation nodes placed in a Supernode on the canvas.

A. True
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B. False

Correct Answer: B

QUESTION 4

Which node should be used if the user wanted to see the number of cases in each category for a variable of Categorical
Measurement level?

A.

B.

C.

D.
Lriztribourkiom

B

ek

Plot

-l
Histogram

Correct Answer: A

QUESTION 5

What will occur if the deployment data has a very different range than the data that was used in modeling?
A. The model will underpredict.

B. The model will overpredict.

C. The model may overpredict or underpredict.

D. The model nugget will automatically nullify those cases that are out of range .075.
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Correct Answer: C
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